AGQBA 2009-2010 Senior High Practice Game 18

Round 1 (20 toss-up Questions)

1.  Identify the  form of punctuation that separates related independent clauses without the use of a conjunction.

ANSWER:  Semicolon
2.  In 1918, there was a global epidemic which killed more than 22 million people worldwide.  What disease caused this epidemic?  

ANSWER:  Spanish Flu  

3.  An angle of elevation of a person’s line of sight, by definition is viewed from what perspective?



ANSWER:   below 

4.  Name the literary device an author uses to express his attitude or opinion toward the audience, a character, or a subject.

ANSWER:  Tone
5.  This element computers run and is the second most abundant element on earth.   What is the name of this element that has a California valley named after it?

ANSWER:  silicon
6.  This is calculated by dividing the percentage change in quantity by the percentage change in price. What is this degree to which a demand or supply curve reacts to a change in price called?  
ANSWER:   elasticity
7. What is the term in baseball for when one player hits a single, double, triple, and home run in the same game?

ANSWER:  hitting for the cycle
8.  (Math Calculation) Give the next three terms in the sequence 2, 3, 6, 11, 18…

ANSWER: 27, 38, and 51
9.  This British author adopted his nom de plume from a river in East Anglia.  His best-known novel begins with the line “All animals are equal, but some animals are more equal than others.”  Name this author.
ANSWER: George Orwell
10. Name the device used to measure current of any branch or part of a circuit.
ANSWER:  ammeter
11.  Singer Chris Brown pled guilty to felony assault in June, 2009.  Which other singer was the victim of this assault?

ANSWER:  Rihanna
12. What is the tonic note in the key of A-minor?

ANSWER:  A
13.  Edgar Allan Poe is considered to be the father of the detective story.  What work of Poe’s is considered to be the first detective story, featuring C. Auguste Dupin (doo – pan) 

ANSWER: The Murders in the Rue Morgue
14. The numbers in Pascal’s Triangle represent the coefficients of a binomial expansion.   What theorem states them in algebraic form?

ANSWER:  Binomial Theorem

15. We see these on TV weather all the time.  Name the phenomenon where air flows outward in counter clockwise directions in the northern hemisphere and usually signal fair weather.  ANSWER:  high pressure system
16. What South African novelist and short-story writer, winner of the 1991 Nobel Prize in literature, wrote Burger's Daughter, My Son's Story, and July's People?  

ANSWER:  Nadine Gordimer

17. What period in history  in the 1400’s was noted by the emergence of independent merchants, intensified trade, new importance of the value of human life, and revival of classical learning?

ANSWER: Renaissance
18. Malleus, incus, and stapes are the names of three bones in your body.  What are their more common names?


ANSWER:  hammer, anvil, and stirrup
19.  (Math Calculation) What is the product of the roots of the equation: 3x2 – x – 4 = 0? 

ANSWER:  -4/3

20. What is the tense of the verb in the following sentence?  “Renee had washed the car when George arrived.”
ANSWER:  Past Perfect
Round 2 (Toss-up and Bonus)
21. What is the term for the history of a word, showing where it came from and how it has evolved into its present spelling and meaning?

ANSWER:  etymology
22.  (Math Calculation) Convert the base 10 number 132 into base 4
ANSWER:  2010
23. Sometimes called moral philosophy in western culture, what branch of philosophy deals with defining and separating what is right from what is wrong?
ANSWER: ethics
24.  One scientific law states that the force exerted by a spring is equal to the constant times the distance the spring is stretched from its equilibrium position. What is that law?

ANSWER:   Hooke’s law

25. What church grew from the Anglican Church or Church of England in 1534 to begin in the U.S. in 1789, which has many rituals and a Book of Common Prayer?
ANSWER:  Episcopal
26.  In this novel, a widowed doctor marries the daughter of one of his patients whose shallow, romantic ideals lead her to engage in numerous adulterous affairs and run up a huge debt. Name this classic novel by Gustav Flaubert (flō-bâir').  
ANSWER: Madame Bovary
27.  In developing a flowchart, what geometric figure would you use to represent an input or output?
ANSWER:  parallelogram
28.  What saltwater lake in southeastern Europe and southwestern Asia is the largest inland body of water in the world?

ANSWER:  Caspian Sea (both words required)

29.  Everyone knows that arachnids have eight legs and two body segments.  How many total pairs of appendages do they have?


ANSWER:   six
30. What goddess spent her time philandering with the god of war, Ares, with whom she had Harmonia, the warrior twins Phobos and Deimos, and Eros, the god of love?

ANSWER:  Aphrodite
Round 2 Bonus Questions
1.   B.C.S. 

The BCS, or Bowl Championship Series, is a selection system that supposedly crowns a national college football champion every January.  What four bowls are traditionally associated with the BCS?

ANSWERS:  Tostitos Fiesta Bowl, Allstate Sugar Bowl, FedEx Orange Bowl, and the Rose Bowl presented by Citi.

2.   Mathematics.

Answer these questions about the binomial expansion of (2x + y)5. (read as: 2 x + five quantity to 5th power)
1.  How many terms will it have?


1. 6
2.  What degree equation is it?


2. 5th
3.  What is the degree of the 4th term?

3. 5th
4.  What is the coefficient of the last term?

4. 2
3.  Australia

Answer the following questions about Australia:

1.  Number of states or provinces that make up Australia

1. Six
2.  The only Australian state not located on the mainland

2. Tasmania
3.  Name Australia’s current prime minister



3. John Howard

4.  Australia’s national coat of arms features the kangaroo

     and what other creature?





4. Emu
4.   Biology.  

Name the four main DNA bases.

ANSWERS: cytosine, guanine, adenine, and thymine
Round 3 (60 second questions)

1. Presidents and their Running Mates

Identify the person who initially ran for Vice President with each of these U.S. Presidents

1. Zachary Taylor





Millard Fillmore
2. Andrew Johnson





Schuyler Colfax
3. William Henry Harrison




John Tyler
4. Woodrow Wilson





Thomas Marshall
5. George H.W. Bush





Dan Quayle
6. Richard  Nixon





Spiro Agnew
7. Herbert Hoover





John Garner
8. James Garfield





Chester Arthur
9. James Polk






George Dallas
10. John Quincy Adams




John Calhoun
Extra:

11. James Madison





George Clinton
2. Religious Texts

When given a religious text, identify the world religion with which it is associated

1. Bhagavad-gita
 (bä'gə-väd-gē'tə)



Hinduism
2. Koran







Islam
3. The Holy Piby (The Black Man’s Bible)


Rastafarianism
4. Torah







Judaism
5. Tripitaka (tri-pit-uh-kuh)
 



Buddhism
6. Ramayana  (rah-mah-yuh-nuh)



Hinduism
7. Analects






Confucianism
8. Avesta







Zoroastrianism
9. Upanishads (ōō-pä'nĭ-shädz')




Hinduism
10. Hadith (hah-deeth)





Muslim
Extra:

11.  Talmud






Judaism
3.  Scientific Breakthroughs
Give the name of the scientist commonly credited with the following scientific discoveries or breakthroughs.

1.  Discovered laws of planetary motion                             
 
1. Johannes Kepler
2.  Demonstrated the first controlled nuclear chain reaction

2. Enrico Fermi
3.  Discovered electrical induction; invented the dynamo

3. Michael Faraday
4.  Invented liquid-fueled rocket




4. Robert Goddard
5.  Developed first successful polio vaccine



5. Jonas Salk
6.  Discovered the neutron





6. James Chadwick
7.  Discovered the circulation of the blood



7. William Harvey
8.  Discovered penicillin





8. Alexander Fleming
9.  Discovered presence of radiation belts around Earth

9. James Van Allen
10.  Discovered radio waves and photoelectric effect

10. Heinrich Hertz
EXTRAS:

11.   Showed that germs cause disease and fermentation        
11. Louis Pasteur
12.  Developed supercomputers




12. Seymour Cray
Round 4 (20 toss-ups)

31.  An aliphatic hydrocarbon having one triple bond between the carbons is called what?


ANSWER: alkyne
32. Edward Tudor, Prince of Wales, and Tom Canty are both characters in what Mark Twain novel?
ANSWER: The Prince and The Pauper 
33. What name was given to the first record player that was invented?

ANSWER:  gramophone
34.  Visualize an odd degree function on a graph.  What can you say about the y value of the left most and right most points of the function?

ANSWER:   one is positive and one is negative
35. This term refers to the set of landforms in a region. What is the study of the relief features of the Earth's surface above and below sea level?
ANSWER: topography
36.  How long is a moon day in terms of Earth time?

ANSWER:  one Earth month or approximately 29 ½ days
37. This author of The Ecclesiastical History of the English People was also responsible for the method of dating that starts with the birth of Jesus, starting with the year A.D. 1. Name him.
ANSWER:  The Venerable Bede (beed)
38. What word beginning with a another name for the Gregorian Chant often associated with the medieval Christian church?

ANSWER:  plainchant or plainsong
39.  (Math Calculation) In which direction would a parabola open if its equation is

 x = - 3y2 – 2y – 4?



ANSWER:   left
40. Name the German social scientist and revolutionary political economist who, along with Karl Marx, co-founded scientific socialism, now known as communism.

ANSWER:  Friedrich Engels

41.  What name was given to the group of English poets of the early 17th century, such as John Donne, whose work was complex and dramatic and unusual in syntax and imagery?

ANSWER: Metaphysical Poets

42. What would be formed by a charged group of covalently bonded atoms?


ANSWER:   polyatomic ion

43.    At the close of World War II a group of 50 nations met in San Francisco, April 1945, to draft the charter of what now well-established world-wide decision making group?

ANSWER:  United Nations
44.  What hyphenated musical term is used for a musical style of made popular in the 1950’s that usually featured unaccompanied close-harmony singing?

ANSWER:  doo-wop
45.  Name the property being described.  For any real numbers a, b, and c:  if c is negative and a < b, then ac > bc.  
ANSWER:   multiplication property of inequalities 

46. What 1966 Supreme Court case declared that suspects must be informed of their rights by police prior to interrogation?
ANSWER: Miranda v. Arizona
47.  What more common name are erythrocytes known by?

ANSWER:  red blood cells
48. What is the ten-letter name for a motion-picture story in manuscript form?  It includes the dialogue, descriptions of scenes, action, and camera directions.

ANSWER:  Screenplay
49. Originally this term applied to the price of nails per hundred.  Today, it indicates the length of a nail.  Name this term used in carpentry.

ANSWER:  Penny
50.  (Math Calculation) Simplify the following expression:  (3ab/ 4ac) ∙ (6a2/3b2)

(read as:  the quantity 3ab divided by 4ac times the quantity 6a squared divided by 3 b squared)

ANSWER:   3a2 / 2bc (read as: 3 a squared divided by 2 bc)

Extra Toss-up Questions
1. We often use the phrase, “I have met my Waterloo” to signify a very difficult task that cannot be accomplished. What historical figure was defeated at the Battle of Waterloo?

ANSWER:  Napoleon Bonaparte
2.  Name the inelastic cord or band of tough white fibrous connective tissue that attaches a muscle to a bone.

ANSWER:   Tendon
3. What American journalist, a founder of the muckraking movement of the early 20th century, wrote articles exposing corruption in business and in city government, the best known of which was entitled The Shame of the Cities?  

ANSWER:  Lincoln Steffens

4.  In a poem written to console himself after the death of a close friend, Alfred Lord Tennyson pulls what title speaker from Greek mythology and portrays him as a restless wanderer, not happy after being home for only three years following his adventures during and after the Trojan War?
ANSWER:  Ulysses
5. Loss of service by a side in volleyball is known as what?

ANSWER:  side-out
6.  (Math computation)  Given equations:  x + 2y = - 1  and 2x – 3y = -16.  Solve for x and y.
ANSWER:  x = -5 and y = 2
Extra Bonus Questions

The Atmosphere

Name these layers of the atmosphere.

1.  Layer closest to the earth’s surface


Troposphere
2.  Second closest layer that begins about 10 miles up
Stratosphere
3. Uppermost layer of the earth’s atmosphere

Thermosphere
4.  Layer containing most of the ozone layer


Stratosphere
Geometry
Name the geometric figure most associated with the followings terms:

1.  Arc








circle
2.  Apothem







regular polygon
3.  Centroid







triangle
4. Three dimensional figure whose bases are congruent circles.
cylinder
Extra 60 Second Question

Wizard Duel

Given the actor, name their character from either the Harry Potter movies or The Lord of the Rings Trilogy.

1.  Rupert Grint                

Ron Weasley
2.  Richard Harris             

Dumbledore
3.  Viggo Mortensen         

Aragorn
4.  Orlando Bloom            

Legolas
5.  Ian McKellan               

Gandolph
6.  Robert Pattinson          

Cedric Diggory
7.  Liv Tyler                      

Arwen
8.  Daniel Radcliffe          

Harry Potter
9.  Elijah Wood                

Frodo Baggins
10.  Alan Rickman          

Severus Snape or Prof. Snape or Snape
Extra

11. Dame Maggie Smith        

Prof. McGonagall or Minerva McGonagall 
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